
SAP ABAP table ROIJNOMI_LDS_UPD {OIJNOMI_LDS Update structure}

ROIJNOMI_LDS_UPD

MANDT [CLNT (3)]

PEGTYPE [CHAR (2)]

NOMTK [CHAR (20)]

LDMAT [CHAR (18)]

LDUOM [UNIT (3)]

BERID [CHAR (20)]

TANKID [CHAR (20)]

LIGHTLOC [CHAR (10)]

LIGHTVESSEL [CHAR (10)]

LIGHTNOM [CHAR (20)]

LDSYSTID [CHAR (10)]

ENDGAUGEUOM [UNIT (3)]

DRAFTUOM [UNIT (3)]

DEADWGTUOM [UNIT (3)]

LIGHTNOMIT [NUMC (10)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIJNOMI_LDS_UPD-LDMAT = MARA-MATNR 

0..N

1

OIFSPBL

MANDT [CLNT (3)]

PBLNR [CHAR (10)]

 ROIJNOMI_LDS_UPD-LIGHTLOC = OIFSPBL-PBLNR 

0..N

1

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 ROIJNOMI_LDS_UPD-LIGHTVESSEL = OIGV-VEHICLE 

0..N

1

OIISOCK

MANDT [CLNT (3)]

SOCNR [CHAR (20)]

 ROIJNOMI_LDS_UPD-TANKID = OIISOCK-SOCNR 
0..N

0..N

OIJBER

MANDT [CLNT (3)]

BERID [CHAR (20)]

 ROIJNOMI_LDS_UPD-BERID = OIJBER-BERID 
0..N

0..N

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]
 ROIJNOMI_LDS_UPD-LIGHTNOM = OIJNOMH-NOMTK 0..N

1

OIJNOMI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

 ROIJNOMI_LDS_UPD-LIGHTNOMIT = OIJNOMI-NOMIT 
0..N

0..N

OIJTS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

 ROIJNOMI_LDS_UPD-LDSYSTID = OIJTS-TSYST 

0..N

1

T000

MANDT [CLNT (3)]

 ROIJNOMI_LDS_UPD-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIJNOMI_LDS_UPD-DEADWGTUOM = T006-MSEHI 

0..N

0..N

 ROIJNOMI_LDS_UPD-DRAFTUOM = T006-MSEHI 

0..N

0..N

 ROIJNOMI_LDS_UPD-ENDGAUGEUOM = T006-MSEHI 

0..N

0..N

 ROIJNOMI_LDS_UPD-LDUOM = T006-MSEHI 

0..N

0..N

TOIJ_PEGTYPE

CLIENT [CLNT (3)]

PEG_TYPE [CHAR (2)]

 ROIJNOMI_LDS_UPD-PEGTYPE = TOIJ_PEGTYPE-PEG_TYPE 

0..N

1


